6.2.1 FEMINERGES

LU, RIS /NE, SRR b, 45 PR %RAE I Ed + b,

>b ib \ /
a

a a a
(D (2)

(3 (€]

2. KRG, b A%k, [d+b| = [dl - [b](=R]b] - [dl)?

3 AR ElRE
(1) d+b= 0
(2) ¢+d= }_-J__..f:"",;fh'w..f‘l
-3 X ~
3) a’+3+d= #ZLM{.
(4) C+d+e= e b
; e
4.1, WilJ¥ ABCD /& FATIUA, s P{ECD L, ¥ 5 "
TR B SR A IER CERIGAER S T V" , MR S APV B R
17 %7 ) . F A /
o L~ _K
(1) DA+ DP = PA. () A B
(2) DA+ AB + BP = DP. () _
(3) AB+BC+ CP = PA () L

SEHME « RF BRAT k" @8 bRT @HHT Lkn” Ma+h R )

ARFEEHFT2 km B.5REHT 2 km
C.AZ%ILAT2 km DAL 2 km
6 MEAEFATIIAT ABCD o, 0 RINABKMKE, THARERHL ()

A./TE:CTI), B_E‘:A_>D v
C.A0+0D=AC+CD B ¢
D.AB+BC+ CD = DA % 6 HE
T.a, b JIEER@E, Hla+b/=l|a|+|b, N ( )
Aa/b, Ba'5b7EAER
Ba, b ZHL&EERTTEBER
Ca=b
Da, b FRHAXRET



R ME MR, AVITMiAf ABCD th, BC+DC+BA%TF () Z

A.BD B.DB C.BC D.CB
Pavazd 8 Eﬁ
9. MEFTR, HIENIDI ABCDEF th, % AB=1, W||AB+FE+CD%T g R
( ) F
Al B.2 C3 D.2\3
A B

104 — 2 AR VG A R /INT, - — R /0N DLTRT R 2 (R0 0 R R T, /NS ARAT T FE R RN A
15 km/h, J71RNAWITG30%, W KFEE NIAAR 7.5 km/h,  SR/AMESEBRATAT I 1R/
Tl



